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Y ARAY A

B RECKRICEIIREINIEHFEANILLD,

@D Ikm 80m = 1080 m
@ 100kg =| 100000 g

@ 3004kg =| 3 t 4 kg
@ 2kg = 2000 g

® It5kg = 1005 kg
® 5lkg =| 51000 g

@ 86kg 400g = | 86400 g
|20km =| 120000 m

@ 50000m = 50 km

| 7kg = 17000 g

@ 10km 900m = | 10900 m
@ 65300kg = | 65 t 300 kg

/24

@ 7270g = 7 kg 270 g
@ 50000kg = 50 t
(® 8000g = 8 kg
8040m = 8 km 40 m
@11800m=| || km 800 m
30kg =| 30000 g

2t =| 2000 kg

@ Ikg 500g = 1500 g
@) 900000kg = 900 t
@ 100Ig=| | kg | g
@ 30kg 300g = | 30300 g
@ 94000m = 94  km




